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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWQ SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions No. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank

in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.(d)

1.(e)

2.(a)

@US ‘A’  SECTION ‘A’
fraferfaa weal # | wd® o1 W R 150 A=) /G
Answer the following in about 150 words each :

e fifvre s e sro Fafar o @ F R @l odt € | 98 SAg Rl & fle
Afmyer B e ?

Explain why the companies buy back their own shares. How is it different from

issue of bonus shares ? 10
o H AT & g arenst Hl =t § T ‘mwm fakor’ e
“HT99’ | 9T AT GEAd © ? AT A o qaEE & 5 vER ' T 7

“Recognition of revenue presents two basic problems, namely timing and
measurement”. Do you agree ? How would you solve these two basic problems ?

10
F19 fRm R € S Al W W duf @ arfde g fee ver fraffa w0 s
frea af & 5 w7 @ @ a2

What do you understand by the term Annual Value of house property ? How would
you determine the annual value of let out house property which remained vacant
for part of previous year ? 10
%m@ﬁ%mmﬁm% ‘G dwl A gt ana @ fore wer i
|

Explain with suitable examples how ‘Shut-down Cost’ is different from ‘Sunk Cost’.
10
W U wE faget @ ww dif, 7 S o =w f danda s aE

@S H A # W@ ey |
Explain five major points that an auditor shall keep in mind while conducting audit
of a Charitable Trust. 10
mﬁl%ﬁﬁsmwﬁm 1 30, 2019 I 3R SE ARIE & wAET o
mﬂliﬁ?ﬁ F FRIGR & gaen & foag ‘e 9w fafies” F W 8w T
HOHT S TS TS | 31 ,2019%%1%%@,%%&%@&@%&%@%

(R «r@ #)
forazwr wa fafiee wm fofee
(A) T :
(i) R Gt :

R (100 9AF) 2,000 1,600
15% atfemm SR (YA 100 &) 800 600

(i) A sRfda 200 160
(iii) wmETE RfaAd 400 300
(iv) faQw @mar 160 120
v) 12% FO-99 (¥ 100 ) 192 160
(vi) =, ariie _408 _190
4,160 3,130
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(i) @t afEataan 2,400 2,000
(i) = wREafer, wor qar afim 1,760 1,130
4,160 3,130

fafes AT

(1) &= foafies ok om0 fafiee & st erefEt 3 7 et # 100 wia &
15% AT QR SeR-aeR e ¥ ww oy € |

(2) 7 & 7w fafies stk ww fafies & 129% o= = = st & wafw
AT W 16% FOT-9, T100 Wia SR o< fFaern @ aifs e Iadt g€
T 6t WA Tt @ |

(3) =& B fafies 3 @ fafiee & v Rt S & fog 1.5 $Redt g @
fafies & y% R AR & fg o S R IR forn | =i e
F YAF PR 100 a7 T 7 |

st “fed & T A fafy” @ A o) wamen fRe wm % awsT 01 st
2019 & =i% B forfiee &1 ge-uo FR AT R |

Sun Ltd and Moon Ltd were amalgamated on and from April 01, 2019. A new
company called Black-Hole Ltd was formed to take over the business of the above
two companies. The balance sheets of Sun Ltd and Moon Ltd as on March 31, 2019
are given below : :

(¥ in lakhs)
Particulars Sun Ltd Moon Ltd
(A) Liabilities -
(1) Share Capital :
Equity shares of ¥100 each 2,000 1,600
15% preference shares of ¥100 each 00 600
(i1)) Revaluation Reserve 200 160
(ii1)) General Reserve 400 300
(iv) Surplus Account 160 120
(v) 12% Debentures of 100 each 192 160
(vi) Current Liabilities 408 190
4160 3,130
(B) Assets :
(1) Fixed Assets 2,400 2,000
(i) Current Assets, Loans and Advances 1,760 1,130
4,160 3,130
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2.(b)

Additional Information :

(1) Preference shareholders of Sun Ltd and Moon Ltd have received the same
number of 15% preference shares of 100 each in the new company.

(2) 12% Debentures of Sun Ltd and Moon Ltd are discharged by the new company
by issuing adequate number of 16% Debentures of ¥ 100 each to ensure that
they continue to receive the same amount of interest.

(3) Black-Hole Ltd has issued 1-5 Equity shares for each Equity share of Sun Ltd
and 1 Equity share for each Equity share of Moon Ltd. The face value of shares
issued by Black-Hole Ltd is ¥100 each.

You are required to prepare the balance sheet of Black-Hole Ltd as on April 01, 2019

after the amalgamation has been carried out using the “Pooling of Interest Method”.

20
% fafmin Fufei s vaem =R fefafaa €, faem 2 o fofz o=t 2
foraTor HHT T HAT AT
SEAT YN 90% 60%
fasft (3 sm@ ®) 540 300
qfEd] @rE (T @@ #) 396 225
fora wrE (3 @@ H) 80 50

7% A g¢ T weaa Fmifea fan s R, aftee St .

(i) Frefim daat 6t dgem-wr fosft 3R 98 &R | awa & 9@ |

(1) 80% &HaT IR R fawfia wasr i wwsemiian |

(i) ¥ 75 @@ & gAEr aAfda oA & forg famfra we v fafoman |

(iv) = foefa wa=9 3 75 9@ & 7% R sifla oA A g W yEfea @, @
Fraa Suftega & 5% i afg ot a7 w@a & forg T Sma 7 foraet wforaraar
gfg & sawasdar gnft 7

Two manufacturing companies which have the following operating details, decide to
merge :

Particulars Company X Company Y
Capacity Utilization 90% 60%
Sales (¥ in lakh) 540 300
Variable Cost (¥ in lakh) 396 225
Fixed Cost (¥ in lakh) 80 50

Assuming that the proposal is implemented, calculate :

(i) Break-even sales of the merged plants and capacity utilization at that stage.
(ii) Profit of the merged plant at 80% capacity utilization.
(iii) Sales of the merged plant to earn a profit of ¥ 75 lakh.

(iv) When the merged plant is working at a capacity to earn a profit of ¥ 75 lakh,
what percentage increase in selling price is required to sustain an increase of
5% in fixed overhead. 15
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2.(c) =i Fifvw for sEeR wEeE o fou faifat St smeara @t e ger fafta

F ST T |
Discuss how the residential status of an assessee is determined for income tax
purposes ? 15

3.(a)  Hwm v dftmen # wmedd wE € sk s sttt feefafea €
(@) 9 - 30,000 T wfewTE
(i) FEME AT (S 99 da1 GaE wrAt # il eian §) — ¥ W 60%
(iii) ftrgfera Sy aRFT # sivgE - 3,000 ¥ whwme
(iv) UeH g # e @1 siveE — 3,000 ¥ wiaATe
(v) I foamg F wafed d o S 1 gREed wa - 2,800 ¥ wiiATe
(vi) wffgfs war (2 =@ & form) — 3,000 ¥ wiewme

(vii) IR Wl — 2,000 ¥ WieHATE
(af W # I anfee F affEl | 12,000 ¥ =@ f)

(vii) 9% Fryes fram & gl < v R | 5w Fam § ase fE 2,000 3
m%ﬁﬁ%lwﬁwqmm? T H FrAlaR Sah fSit
syan vq fear @ fomem sfafea =1 75,000 7 % |

(ix) 3% 01.10.2018 ¥ TH AR AR bR H glaer & 7 B T wdw &
3 3,000 T WRmTE TR GRI FAH fFT S @ € |
(x)ﬁS0,000?gfqm@ﬁmeﬁWéﬁtﬁmﬁwﬁﬁﬁW%
BRI

(xi) 01.10.2018 ' IR I fHEih & T @ T H F0 ARFR Glded & g
6-25% S Famdt = ® R forr | =@ o d 9t @ T 10,000 wfowTg
01.01.2019 & WA & | 01.04.2018 FI HRCAA WE § @t = X 9-25% A |

(xii) 9HR # e g f = Feafafea €
(a) ffa <tar sdifem .

@ & foru 10,500 3 (S iyt §F <r@ ?)
gt & fow 12,000 T (Sfr ofyr & @@ ?)

Hi & forw 8,000 3 (ST T U @/ F)
e g % oy 8,000 T (ST IS IR s T R
g 98 Ergar @ difeq ®), (S afy w=m TR 3)

aeft o wifaf 2014-15 % o af | <t Wi A
(b) ufserr widise e # w1 fRw — 5,000 ¥
(c) /T TA S FHow H UG W & Iqeh el¥F B — 6,000 ¥
(d) Sham shar frm & 7m g forg @ o i st (3@ 9E - 36,000 7
qﬁﬂﬁ?’l’ﬁ%‘l:
(i) 9a9
(ii) &RT 80 C o ded ol & fog sres ¥ |
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Mr. X is a Government employee at Ludhiana and is getting following emoluments :
(i) Salary — ¥ 30,000 per month
(i1) Dearness Allowance (enters) — 60% of salary
(iii) Contribution in Notified Pension Scheme — ¥ 3,000 per month
(iv)- Employer’s contribution to Pension Scheme — ¥ 3,000 per month
(v) Transport Allowance for commuting between home and office — ¥ 2,800 p.m.
(vi) Deputation Allowance (for 2 months) — ¥ 3,000 per month

(vii) Entertainment Allowance — ¥ 2,000 per month
(During the year, he spent ¥ 12,000 on entertainment of official guests)

(viii) He has been provided with a rent-free accommodation. The licence fee for the
accommodation has been fixed at ¥ 2,000 per month. The government has
also provided him with furniture items cosiing ¥ 1,00,000 (WDV — ¥ 75,000)
for his personal use.

(ix) He has been provided with the facility of a servant and watchman w.e.f.
01.10.2018 and the government is paying ¥ 3,000 per month to each of these
servants.

(x) A laptop costing ¥ 50,000 has been given to him for his official as well as
personal purposes.

(xi) On 01.10.2018 he took a loan of ¥ 2,00,000 from his employer to buy a car
at a concessional rate of interest of 6:25%. The repayment of loan started w.e.f.
01.01.2019 @ ¥ 10,000 per month. SBI rate of interest as on 01.04.2018 was
9-25%.

(xii) During the year savings made by Mr. X were :

(@) LIC Premium :
For Self ¥ 10,500 (sum assured ¥ 2,00,000)
For Spouse ¥ 12,000 (sum assured ¥ 1,00,000)
For Mother ¥ 8,000 (sum assured ¥ 1,00,000)
For Major Son ¥ 8,000 (not dependent on him but is suffering from
disability) (sum assured ¥ 50,000)

All life insurance policies were taken in the previous year 2014-15.
(b) PPF Deposits : T 5000
(c) Tuition Fees of Second Son studying in a College ¥ 6,000
(d) Repayment of Housing Loan from LIC'(Principal Portion) — ¥ 36,000
Calculate :
(i) Salary Income
(i1) Qualifying amount for deduction U/S 80 C. 20
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3.(b)

3.(c)

4.(a)

4.(b)

4.(c)

5.(a)

5.(b)

SWe | AT T FHAS € 7 U WA S WOIel & HATavah ded H1 B © ?
Zaeh aRemg F@m g 7

What do you understand by budgeting ? What are the essentials of effective
budgeting system ? What are its limitations ? 15

for smefa @wm frakor (wEidl.) vl @ @t ® 2 U WEREE SR
faRor somelt & forg wanR firsr ® 2 fomm smenfia amma frarRor womelt <t s e
F IO B wWE Hiforw |

What is Activity Based Costing (ABC) system ? How is it different from Traditional
Costing System ? Explain the Steps to implement ABC system. 15

T B A WH R S wWE fife | g gm oA Yy

(Be oA fue) sk sfafea weafafy (Rew s Toe) & o= fave
| o B @ & AS-6 & FER fodila feoi 7 oA § g vy sm
?

Explain the nature and need for depreciation. Distinguish between straight line
method and diminishing balance method of depreciation. What disclosures are

required to be made in financial statements as per AS-6 on depreciation accounting ?
20

JTEIIE o@idd H1 ¢ ? 3as fraraad # qalemei sk et @ @
Sifvra |

What is Responsibility Accounting ? Explain the prerequisites and the problems in
its implementation. ' 15

TETse & saww daErien 9 fea wer i giar ® 7 fe oikferft & &<
WEHER Tordt 79 & FANT FH ARy ¢ Gl § ?

Explain how investigation is different from that of Auditing. Under what

circumstances the Central Government can order for investigation of a company ?
15

gus ‘B’ SECTION ‘B’
Fraferfaa weat # & vads &1 SR R 150 =g) # S
Answer the following in about 150 words each :
Y sttt fraw vl @ sfaa sewa AT W R, feg g SmarfaEr f
TG ol AR & THIF Uahlideh el & || |HiEm hifsg |

“Maximization of profits is regarded as the propei objective of investment decision,
but it is not as exclusive as maximizing shareholders’ wealth” — Comment. 10

ol A A A AT A R AT B SRR oA sifew |7 s ena
® 7 I oA w® A ?

“A firm should follow a policy of very high dividend pay-out”. Do you agree ?
Why or why not ? 10
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5.(c)

5.(d)

5.(e)

6.(2)

SfemEd-Shuw faewn § sl fag @ amen $ifo |

Explain ‘Indifference Point’ (IP) in EBIT-EPS analysis. 10
wrafies SR R fdas awm & @i fatier fif |
Distinguish between Primary Market and Secondary Market. 10

‘el fify & mem ¥ iRt § Ry o wom fEw & SR fawe 1
T FIT H GRE R |

“Investing in securities through Mutual Fund is a better choice than direct

investment” — examine the statement. 10
N @ e ane o fFrefafe fero wem o @
Fog Wl A AP Wfd zwRE - T 70
UAd g7 6 and ufd s - ¥ 35
Fa8 arE i g - T 55
g A did =HE - T 160
IR IO - ¥ 25
fopa 7 wfd s - % 185
FfaReh SHaRT : '

(i)aﬁwsﬁwqmms%%qﬁﬁw%l

(if) ®Tel 3iEae 3TeT FEAT Wi H Tedr ® |

(ifi) TR A tEad U we & fog wels #d @ R |

(iv) smgfefeafell gRT TF HIE F1 IR g © |

(v) STGRI T q1 WIE 1 SUR wigd € |

(vi) FGd & WaE # 11 wEre @ faers g € |

(vi) SaRkerdl & WA § TE " ol el © |
(viii) Teh-STE IATGH kG 4T ST @ |

(ix) T 3R F& #F A% 2,50,000 T @ A A H AR € |

TS IATE S 1,04,000 3HEAT H Fremsdedn & & @ fa-dwn w3 F fog
Wmﬁﬂ%ﬁ@ﬁ%@@mﬁwm%lma@mm%%
eI A I U GE T § Fedl ¢ | woigd AR SuRerd | 3 YR gurhid gid
¥ 3fik 52 R 1 9¥ & EAge ® | 3R ¥R 9UIR UF 9§ & d9gd ® |
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6.(b) -

A proforma cost sheet of a company provides the following particulars :

Raw Material Cost per Unit
Direct Labour Cost per Unit
Overhead Cost per Unit
Total Cost per Unit
Profit per Unit
Selling price per Unit
Additional Information :
(1) Raw Materials are in stock on an average for 1 month.
(ii) Materials are in process on an average for 1 month.

- ® 70
- ¥ 35
- & 35

- T 160
- T 25

- ¥ 185

(i11)) Finished goods are in stock on an average for 1 month.
(iv) Credit allowed by Suppliers is 1 month.
(v) Credit allowed to Debtors is 2 months.
(vi) Lag in payment of wages is 11 weeks.

(vii) Lag in payment of Overhead expenses is 1 month.

(vii1) ﬁth of the output is sold against cash.

(ix) Cash in hand and at bank is expected to be ¥ 2,50,000.
You are required to prepare a statement showing the working capital needed to
finance a level of activity of 1,04,000 Units of production. You may assume that
production is carried on evenly throughout the year, wages and overheads accrue
similarly and a time period of 52 weeks is equivalent to a year and 4 weeks is

equivalent to a month.

20

frafafea qEaml @, wa fafr &1 e w9 o, W WA afaed

fsrarepeal | Ahg ware &1 IREe FHifrg
31, 2019 a¥ & wwThi )

ST A R AR - ¥ 1,00,000
fafsran - ¥ 1,50,000
ERE - ¥ 12,000
star wifiem - ¥ 3,000
TeagH - ¥ 10,000
sHfaien GG

Torawor 01.04.2018
TER Z 18,000
W fee T 7,000
dER ¥ 8,000
wh ¥ 20,000
e A T 2,000
gded ST Wil T 1,000

9

01.04.2019

MoA A A A A

25,000
4,000
6,000

25,000
3,000
1,000
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From the following information of a firm, calculate the cashflow from operating

activities by applying Direct Method :

(For the year ended March 31, 2019)

Cost of Goods sold -~ ¥ 1,00,000
Sales - < 1,50,000
Salaries - T 12,000
Insurance Premium  — = 3,000
Depreciation - ¥ 10,000
Additional Information :

Particulars 01.04.2018 01.04.2019
Debtors T 18,000 ¥ 25,000
Bills Receivables T 7,000 T 4,000
Creditors T 8,000. ¥ 6,000
Stock T 20,000 T 25,000
Salaries Outstanding T 2,000 < 3,000
Prepaid Insurance Premium ¥ 1,000 < 1,000 15

6.(c) it = fofaw & et frae s savm i we A |

INlustrate the Net Income Approach relating to capital structure decision making.

15

7(2) ey fafiee st fRy dismmst @ @@ & & foe 10 9@ 7 @0 sfafies o
T 9Tedt § | Al & e R % Sew eg whieRa s % €9 # 2,10,000 ¥

Iqeey € | afafes =R feafafea €

(i) o — 3fFadt fion
(if) T @ AR ¥ 1,80,000 TH

(iii) =R | RE T 1,80,000 & MG

(iv) s wfa R

(v) ATHI A

(vi). ST # sfeE faem
(vii) FH SRR T fd A
(viii) & H T

SDF-U-COMA
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10% (IR & d&d)
16% (X & Ig)
T4

50% (3T <)
10%

T 44

50%



7.(b)

st Pl e 2
(a) afifer i Ser 3 WY Frafon |

(b) srfafees ot wR-uv=E siad drE et |
(c) wiaeria s wa $fEaet Gt &t @ @ R |
(d) afafes o 6t w-vwaq o0 aRifEa siea «ma o afieed |

Akash Limited wishes to raise additional finance of ¥ 10 lakh for meeting its

investment plans. It has ¥ 2,10,000 in the form of retained eamings available for
investment purposes. The following are the further details :

(1) Debt — Equity Mix —
(i1) Cost of Debt up to ¥ 1,80,000 &
(iii) Cost of Debt beyond ¥ 1,80,000 —
(iv) Eamings per share =
(v) Dividend pay out =
(vi) Expected growth rate in dividend —
(vii) Current market price per share =

(viii) Tax Rate =

You are required to :

30% — 70%
10% (before tax)
16% (before tax)
T4

50% of earnings
10%

T 44

50%

(a) Determine the pattern for raising the additional finance.

(b) Determine the post-tax average cost of additional debts.

(c) Determine the cost of retained earnings and cost of equity.

(d) Compute the overall weighted average after tax cost of additional finance.

20

ﬁmﬁ%aamrﬁ%m@nm%zomm‘q’%ﬁ%gmwmm%:

=], g -
WA FTIT -
ATergEl Frad =
HA A I =
U U Iafy _
fer afwafa smad =
arfafaar wa sl &1 o & sgua -
QA FO W g I § A -
fer afwafa &1 g 7= ¥ Aqua -
ay & qRM fosr =

11

1-60 : 1
1-10 : 1.
6 T

20%

1-92 EM
1-25 T
025:1
05:1
120: 1
7,50,000 ¥
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7.(c)

8.(a)

8.(b)

8.(c)

From the following information, you are required to prepare the balance sheet of
A Ltd as on March 31, 2019 :

Current Ratio - 160:1

Liquid Ratio — 1-10 : 1

Inventory Turnover — 6 times

Gross Profit Ratio - 20%

Debt Collection Period — 192 months

Fixed Assets Turmover — 125 times

Reserves and Surplus to Capital -  0-25:1

Long Term Loan to Net worth - 05:1

Fixed Assets to Net worth - 1-20:1

Sales for the year - ¥ 17,50,000 . 15

o dw, Fr g ? €09 uH, e § qed |- ? TS ged o JY
THATT | 9% B UF SiRgH W Ry | Aewsd wfied & aR § @ oaar § ?
What is CAPM ? What are the components of CAPM equation ? Explain the

meaning of each component. What does it tell us about the required return on a risky
investment ? ' 15

FARE IS A AT F97 Aders § 7 THh Il hl ERAT T HT | HARE
Tiet & frg s@ae R o el fifim e @ T it )

What do you mean by corporate restructuring ? Qutiine its objectives. Explain the
various techniques used for corporate restructuring. 20

‘gt AR W R ? 3Ee e R Wl W=t Hif |

What is “Money Market’ ? Discuss its features and functions. 15
e da & faftm yeml w ==t fifvg |
Discuss the various functions of a commercial bank. 15
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